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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-

2-

Please leave ---------- directions for the housekeeper, so she knows what needs to be done.
1) authentic 2) restless 3) cursory 4) explicit

The islands ---------- their name from the sacred images found on them by the early
European navigators.

1) derive 2) Hlustrate 3) infer 4) grasp

People love the Presidio because it is in close ---------- to many area attractions, including

the famous aquarium, the SFB Morse Botanical Reserve and the Spanish Bay Resort
Golf Course.

1) relevance 2) proximity 3) accord 4) observation

This system, which for many years subsequently was regarded as authoritative, has been
subjected to ---------- criticism by later economists, and it is perhaps not too much to say
that it now possesses mainly a historical interest.

1) transient 2) feeble 3) vigorous 4) shaky

Although Norman could ---------- his sister’s story about her innocence to absolve her, he
refused to do so because he was angry at her.

1) corroborate 2) testify 3) fulfill 4) retain

When he came in to tea, silent, -===-cz--x , and with tear-stained face, everybody pretended
not to notice anything.

1) facetious 2) showy 3) mercurial 4) morose

Since color is absorbed as it travels through water, the deeper you are, the more likely
you will notice a ---------- in the clarity of reds, oranges and yellows.

1) intensification 2) deception 3) reduction 4) competition

As the students argued, the teacher tried to ---------- them into silence with the threat of a
detention.

1) impose 2) condemn 3) condense 4) coerce

Teachers who consider cartoons and comic books ---------- to students’ literacy skills

often use class time to deride these media.
1) pertinent 2) harmful 3) conducive 4) indispensable
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10- Salt is valued not only because of its ---------- as a condiment and preservative, but also
because they are essential to the health of humans and animals.
1) variances 2) properties 3) predictors 4) temptations

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Being funny has no place in the workplace and can easily wreak havoc (11) ----------
an otherwise blossoming career. Of course, laughter is necessary in life. But if you
crack jokes (12) ---------- snide remarks at work, you will eventually not be taken
(13) --———-—--- . You will be seen as someone who wastes time (14) -------—--- could better
be spent discussing a project or an issue. Additionally, many corporate-minded
individuals do not have the time to analyze comments with hidden meanings-they will
take what you say (15) -------—-- and as an accurate representation of your
professionalism in the workplace.

11- 1)on 2) In 3) at 4) for
12- 1) which they make 2) to be made 3) and make 4) then make
13- 1) by some others serious 2) serious by others
3) being seriously by others 4) seriously by others
14- 1)and 2) when 3) that 4) that it
15- 1) is absolute 2) as absolute 3) be absolute 4) that 1s absolute

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1I:

Loss of heat transfer and subsequent charge outlet temperature decrease is a result of
the-low thermal conductivity of the fouling layer or layers which is generally lower
than the thermal conductivity of the tluids or conduction wall. As a result of this lower
thermal conductivity, the overall thermal resistance to heat transfer is increased and
the effectiveness and thermal efficiency of heat exchangers are reduced. A simple way
to monitor a heat transfer system is to plot the outlet temperature versus time. In one
unit at an oil refinery, fouling led to a feed temperature decrease from 210°C to 170°C.

With the onset of fouling and the consequent buildup of fouling layer or layers, the
cross sectional area of tubes or flow channels is reduced. In addition, increased surface
roughness due to fouling will increase frictional resistance to flow. Such effects
inevitably lead to an increase in the pressure drop across the heat exchanger, which is
required to maintain the flow rate through the exchanger, and may even lead to flow
blocks. Experience with pressure drop monitoring has shown, however, that it 1s not
usually as sensitive as indicator of the early onset of fouling when compared to heat
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16-

17-

18-

19-

20-

transfer data; thus pressure drop is not commonly used for crude preheat monitoring.
In situations where significant swings in flow rates are experienced, flow correction
can be applied to both pressure drop and to heat transfer calculations to normalize the
data to a standard flow.

Different fouling deposit structures can lead to under-deposit corrosion of the
substrate material such as localized fouling, deposit tubercles and sludge piles. The
factors that are most likely to influence the probability of under-deposit corrosion
include deposit composition and its porosity and permeability. Even minor
components of the deposits can sometimes cause severe corrosion of the underlying
metal such as the hot corrosion caused by vanadium in the deposits of fired boilers.

Heat transfer systems can be checked by ---------- i

1) fixing the rate of temperature decrease

2) monitoring the conductivity of the fluids

3) improving the thermal efficiency of layers

4) making a graph of outlet temperature versus time

The relationship between thermal efficiency and thermal resistance to heat transfer is ---------,
1) direct 2) inverse 3) neutral 4) linear
The flow rate through the exchanger ---------- .

1) normalizes the data related to heat transfer calculations

2) applies to situations where swings are experienced

3) depends on the pressure across it

4) correlates with preheat monitoring

Under-deposit corrosion are greatly affected by all of the following EXCEPT ---------- :
1) components of deposit

2) the volume of deposits

3) penetration rate of deposits

4) thermal conductivity of deposits

You can infer from the passage that fouling can be best defined as ---------- ;

1) the procedure of assigning the heat to fluids

2) the accumulation of unwanted materials on the surface of processing equipment
3) the cross sectional area of tubes or flow channels

4) the loss of heat transfer and subsequent temperature reduction

PASSAGE 2:

Control valves are imperative elements in any system where fluid flow must be
monitored and manipulated. Selection of the proper valve involves a thorough
knowledge of the process for which it will be used. Involved in selecting the proper
valve is not only which type of valve to use, but the material of which it is made and
the size it must be to perform its designated task.

The basic valve is used to permit or restrain the flow of fluid and/or adjust the
pressure in a system. A complete control valve is made of the valve itself, an actuator,
and, if necessary, a valve control device. The actuator is what provides the required
force to cause the closing part of the valve to move. Valve control devices keep the
valves in the proper operating conditions; they can ensure appropriate position,
interpret signals, and manipulate responses.
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21-

22-

23-

24-

When implementing a valve into a process, one must consider the possible adverse
occurrences in the system. This can include noise due to the movement of the valve,
which can ultimately produce shock waves and damage the construction of the system.
Cavitation and flashing, which involve the rapid expansion and collapse of vapor
bubbles inside the pipe, can also damage the system and may corrode the valve
material and reduce the fluid flow.

The writer of this passage wants to ---------- .

1) represent information essential for applying valves

2) persuade manufactures to use control valves in their designs

3) give introductory data about control valves and their functions

4) describe an element being required for any system

The word ''thorough" in paragraph 1 can be substituted by ---------- ;

1) practical 2) scientific 3) complete 4) superficial

To choose the right valve for your application, it is imperative to know all of the
following EXCEPT ---------- Y

1) the valve manipulation 2) valve materials of construction
3) the dimensions of valve 4) the kind of valve
A valve control device ---------- :

1) regulates the fluid flow moving through a system

2) is responsible for adjusting the pressure

3) provides good working condition for valves

4) is imperative in a complete control valve

Implementing a valve ---------- :

1) restricts the possibility of the adverse occurrences in the system
2) can identify the noise, cavitation, and flasing occurred in a device
3) verifies whether the goals of a process are met

4) may put some destructive effects on the system

PASSAGE 3:

Noise 1s all around us 1n all sorts of forms. In the common use of the word, noise refers
to sound. However, noise can more accurately be thought of as random variations that
are always present in one or more parts of any entity such as voltage, current, or even
data. Rather than thinking of noise only as an acoustic term, it should be thought of
more as a random signal. Noise can be the inherent fluctuations in some part in a
system (i.e., temperature at a given point) or it can be the unavoidable interference on
a measurement from outside sources (i.e., vibrations from a nearby generator blur
measurements from a pressure transducer). The static interference on your radio, the
'snow’ on your television, and the unresolved peaks on an infrared spectroscopy report
are all examples of noise.

Chemical engineers can use statistical properties to characterize noise so they can
understand a current process or develop an optimal process. By characterizing the
noise and determining its source, the engineer can devise methods to account for the
noise, control a process, or predict the path of a system. For example, when chemical
engineers design plants, they use characterizations of noise to determine the best
control scheme for each process. Mathematical modeling can be used to characterize
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and predict the noise of a given system. In modeling, to simplify the representation of
general trends that reoccur, noise is classified in two major categories: frequency
based and non-frequency based. Frequency based noise consists of the colors of noise,
and non-frequency based noise includes pops, snaps and crackle.

26- This passage includes ---------- ;
1) understanding a process by converting the noise
2) detailed information on a variation called noise
3) the statistical properties of noise
4) the categorization of the general types of noise
27- According to the passage, noise is ---------- ;
1) known more precisely as a random signal
2) forming a common variety referred as sound
3) a part of an entity such as voltage, current, etc.
4) refered more as an acoustic term
28- Which one of the following, based on given information in the passage, is NOT an
example of noise?
1) disturbance in radio frequency spectrum
2) interpretation of infrared spectra
3) random dot pixel on televison
4) natural vibration in some parts of a system
29- The noise, in designing a plant, can ---------- .
1) characterize the mathematical modeling
2) simplify the representation of recurring general trends
3) specify the systematic plan for every process
4) determine the best location for each system
30- The tone of the writer of this passage is ---------- :
1) skeptical 2) critical 3) persuasive 4) apprehensive
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